PITT Qube SEH-50P-AAA-1
ORMEASEBROBEFT>TEY A, ORMMEFERKERTRIDDYET,
OXRTMEFIOEERIEEENTEY A, CERHERIRBEA DAY £,

Copyright(c) KOSHIN Ltd. All Rights Reserved. 1 2025/03/31 17:52:46



PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

SEH-50P-AAA-1

OBMEFERCERTSIENHY T,
OERHIBIEREA DM X

No. mE i BRE - ME B Eff &%
1 012019502 SE-50X # V7" h-2 ADC 1 6,700
2 011266205 SE-50XIRA T SV ADC(G#¥") |1 1,600
3 011266503 SE-50X F v v F/\LT NBR 1 900|(N)
4 011807804 20A7° 39 53 2 600|PA-156(4971770-102156)
5 012122603 SEV-50X 7579° 7" 74y b ADC 1 5,100
6 012093402 SE-50X-2 A& = ADC 1 2,500
7 012122701 SEV-50X-214 v R< FC 1 2,600
8 011055605 SE-50L-10t 757" 1 3,200
9 012323401 SE-50L-10tH 7579 1° vy NBR 1 400|(N)
10 012705503 SEH-50P-AAAR— 2R 7 X BE L2 1 8,900|NO.599
11 011049104  [SEH-80 1vA° S5AEE)y 4~ BSP T0.3 3 200|(N)
12 012218601 GP160H WH1 V¥ v 1 0
13 012370901 SE-80L *hztvy-h (&E) 620 1 2,800
14 011815901 SE-50X Abb-F-93 (11V4E) PP 1 2,200 € F¥
15 940019060  [f-An" Up ¢ 60 3 300|(N)
16 012800501 SE-508 87799 Fhy7° Uvs™ h3 2 4,800
17 011800301  [AEAADVITTDF/UIN 52" 2 2,900
18 012047901 SE-50 hhnyan’ vy (YN 1) NBR 2 600|(N)
19 012021102 R hADY Y AR (2") PA 2 1,100
20 [012021301  [wAghARYY AN v (2") NBR 2 500|(N)
21 012218702  |SEH-50P-AAA-1(KH-50P)8%4R FAIV7 40k 1 200[(N)
22 012321301 oy l1\1%1R7-42.5 1 500|(N)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/31 17:52:46




PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

SEH-50P-AAA-1

OBMEFERCERTSIENHY T,
OERHIBIEREA DM X

No. mE & - HME B Eff iBE
23 011279202 [OUvy° P54 NBR 1 300|(N)
24 743119045  |MAN BILRESHERASAT Vb M8x20 3 200|(N)
SWRM

25 743119047  |MAN BILRESHEASET Vb M8x25 4 200|(N)
SWRM

26 743119053  [MAN BIERESHEANARIL b M8x40 4 200|(N)
SWRM

27 743119046  |MAN BILRESHEASAT Vb M8x2 2 4 200|(N)
SWRM

28 734532076  [NATFMERIL b M8x60 SCM |4 200|(N)

29 854255008  [-W7vy+ ¢ 8 4 200|(N)

30 827419008 ["&EF v b M8 1f&Fh |4 200((N)
SWRM

31 012230701 [SERl®OH A R/IRRILSNIL BHa-k7hoy |1 300|(N)
+PET

32 889955025 [0y G25 NBR 2 200|(N)

00 012218801  |SEH-50P-AAA(KH-50P) I 9%v4” §-3 HC6E1& |1 2,200

00 012013704  |SEFISCEH@ENIRERBAE /44190 A4 P12 1 O[(N)

00 012218902  |SEH-50P-AAA(KH-50P)ER S 45 4H A4 TWEEIRI |1 100|(N)

00 012219301 |[HONDAFIXIVY VERER(GP160-200M) 1 500|(N)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/31 17:52:46



